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and so a = ea = axra. Since a L f there exists t € §! with ta = f. Then

Ta = fsea = fsa = tasa = ta = f.
Also

zar = fz = ffse= fae =x.
So we have
€ = ar a = ara T = 14T f = za.
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We have e R a and ea = a therefore p, : H, = H, is a bijection. From a £ f and xa = f

we have A, : H, = H; is a bijection. Hence p A, : H, = H; is a bijection.
So we have the diagram

Pa

S

Let h, k€ H,. Then

h(paAz)k(paAz) = (zha)(zka) = zhlar)ka =
rheka = rhka = hk(paAz).

S0, pyA, is an isomorphism and H, = H.



